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If he carried from one MW" to another — NS NRVT 2997 AR
inadvertently, he is 217 a nRwn. The X723 asks: This is obvious.

OVERVIEW

The X072 teaches us that if one took an item from one MW" to another A w2
he 1s 211 a nRVA 127p. The Xx asks, XvWwy; this is obvious. NM®OIN clarifies
the s'X7n03 question.

— 022990 YA NN IND TN NIV 1D INDT 1IVYIYNT 19D
Since the Xin of the Xn»72 taught us that this domain is a °"'719, and the
other domain is a 9"'71 -
— NRLN 2N MV DD NN NININNT XVIWO
It is obvious that whoever transfers an object from one domain to the
other domain, inadvertently, he is 297 to bring a R 1:11|7.1

SUMMARY
Why is it necessary for the Xn»12 to state that NXWVI 277 112 77 KOXAT?

THINKING IT OVER

1. According to MooIN, is the question XYWH based on the fact that the Xn>72
already stated 7% 1 RN PR, or is the question Xvwd valid even if the
XN 12 would not have said 121 XX 1PR?

2. Why does moon not explain that X713 as *"w1 does?”

' See "n W naw, that 'o1 *"wn disagree as to what is the exact question of the Xx»3 when it asks !Nww
According to """ the question is it should have just said in the Xn>92 that "2>1 9°210m X°X17 oY without
mentioning that he is nXvn 27, since that is self understood. NMvoIN however learns that the question X wd
asks why is it even necessary to say ""21 2°°17 3\1w2 0°10M R°X7 X", since the Xn71 told us already X°7 37
"7 and 1" X071 (and ™17 1" "R pRoXn PR, we already know that if (nXkvr) 21 0215 R¥17
since XYY is one of the MoX?n Mak. See ‘Thinking it over’ # 1 & 2..

* See footnote # 1.

? See » 9w naw and wR NI,
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